Why Didn’t The Circus Managers Want
Their Human Cannonball To Quit?
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aFor any exercise below, solve the equation for y in terms of x. Find your answer in the

Janswer columns and notice the number to the left of it. Each time this number appears £
2in the code, write the letter of that exercise above it. Keep working and you will discover -
athe answer to the title question. -
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Ox +y=2 ®ox—y="2 M 5x — 2y = 0
®-2x+y=5 ®x+2y=0 M 4x — 2y = 3
®s5x +y =1 @x +2y=5 ® ~3x — 5y = 10
@‘"3x+y:*4 “3x+2y:0 ®x+4y=“2
@x-y=86 W -3x + 2y = 4 N -6x — 2y =5
®-4x-y=3 ©®6x + 3y = 1 ©x -3y =4
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©y="x+2 Y= 4x — 5
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